This report contains the transfers results.

Contest Name

Ward 7 - Dunoon

2,753

Positions to be Filled

Quota

Quota

Ward 7 - Dunoon

3,753

689

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
George DARROCH	Independent	168
Audrey E FORREST	Scottish National Party (SNP)	1,126
Daniel HAMPSEY	Scottish Conservative and Unionist	493
Gordon Graham MCKINVEN	Independent	279
Ross MORELAND	Scottish Liberal Democrats	464
Kaitlin WALLACE	Scottish Labour Party	180
Susan WATLING	Scottish Family Party	43
	Total	2,753

Candidate Audrey E FORREST Elected with 1,126 votes, being in excess of the quota of 689



This report contains the transfers results.

Stage 3 - Exclusion of Susan WATLING

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George DARROCH	9	1.00000	9.00000
Transfer to Daniel HAMPSEY	11	1.00000	11.00000
Transfer to Gordon Graham MCKINVEN	9	1.00000	9.00000
Transfer to Ross MORELAND	4	1.00000	4.00000
Transfer to Kaitlin WALLACE	3	1.00000	3.00000
Transfer to George DARROCH	20	0.38809	7.76180
Transfer to Daniel HAMPSEY	2	0.38809	0.77618
Transfer to Gordon Graham MCKINVEN	9	0.38809	3.49281
Transfer to Ross MORELAND	1	0.38809	0.38809
Transfer to Kaitlin WALLACE	8	0.38809	3.10472
No further preference	7	1.00000	7.00000
No further preference	10	0.38809	3.88090
Not transferred due to rounding			0.00000
	Total		62.40450

This report contains the transfers results.

Stage 4 - Exclusion of Kaitlin WALLACE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George DARROCH	18	1.00000	18.00000
Transfer to Daniel HAMPSEY	14	1.00000	14.00000
Transfer to Gordon Graham MCKINVEN	22	1.00000	22.00000
Transfer to Ross MORELAND	76	1.00000	76.00000
Transfer to George DARROCH	30	0.38809	11.64270
Transfer to Daniel HAMPSEY	5	0.38809	1.94045
Transfer to Gordon Graham MCKINVEN	17	0.38809	6.59753
Transfer to Ross MORELAND	68	0.38809	26.39012
No further preference	53	1.00000	53.00000
No further preference	63	0.38809	24.44967
Not transferred due to rounding			0.00000
	Total		254.02047

This report contains the transfers results.

Stage 5 - Exclusion of George DARROCH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Daniel HAMPSEY	26	1.00000	26.00000
Transfer to Gordon Graham MCKINVEN	78	1.00000	78.00000
Transfer to Ross MORELAND	39	1.00000	39.00000
Transfer to Daniel HAMPSEY	4	0.38809	1.55236
Transfer to Gordon Graham MCKINVEN	108	0.38809	41.91372
Transfer to Ross MORELAND	64	0.38809	24.83776
No further preference	52	1.00000	52.00000
No further preference	85	0.38809	32.98765
Not transferred due to rounding			0.00000
	Total		296.29149

This report contains the transfers results.

Stage 6 - Surplus of Ross MORELAND

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Daniel HAMPSEY	135	0.02997	4.04595
Transfer to Gordon Graham MCKINVEN	185	0.02997	5.54445
Transfer to Daniel HAMPSEY	21	0.01163	0.24423
Transfer to Gordon Graham MCKINVEN	114	0.01163	1.32582
No further preference	263	0.02997	7.88211
No further preference	193	0.01163	2.24459
Not transferred due to rounding			0.00637
	Total		21.29352

This report contains the transfers results.

Stage 7 - Exclusion of Gordon Graham MCKINVEN

492.28086

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Daniel HAMPSEY	152	1.00000	152.00000
Transfer to Daniel HAMPSEY	84	0.38809	32.59956
Transfer to Daniel HAMPSEY	60	0.02997	1.79820
Transfer to Daniel HAMPSEY	72	0.01163	0.83736
No further preference	236	1.00000	236.00000
No further preference	167	0.38809	64.81103
No further preference	125	0.02997	3.74625
No further preference	42	0.01163	0.48846
Not transferred due to rounding			0.00000

Total